

$$8) \lim_{x \rightarrow 0} \frac{\sin(a+2x) - 2\sin(a+x) + \sin a}{x^2} = \lim_{x \rightarrow 0} \frac{[\sin(a+2x) - \sin(a+x)] - [\sin(a+x) - \sin a]}{x^2}$$

800000
130000

$$= \lim_{x \rightarrow 0} \frac{1}{x^2} \left[2 \sin \frac{x}{2} \cos \left(a + \frac{3x}{2} \right) - 2 \sin \frac{x}{2} \cos \left(a + \frac{x}{2} \right) \right] =$$

VOAL

$$= \lim_{x \rightarrow 0} \frac{\sin \frac{x}{2}}{\frac{x}{2}} \cdot \lim_{x \rightarrow 0} \frac{\cos \left(a + \frac{3x}{2} \right) - \cos \left(a + \frac{x}{2} \right)}{x} = \left\| \begin{array}{l} \lim_{x \rightarrow 0} \frac{x}{2} = 0 \text{ \& } \frac{x}{2} \neq 0 \text{ na } P_0(0) \\ \lim_{y \rightarrow 0} \frac{\sin y}{y} = 1 \text{ \& } 2 \text{ VOLTSE} \\ \text{je 1. limita} \\ \text{je 1.} \end{array} \right\|$$

$$= \lim_{x \rightarrow 0} \frac{1}{x} \left[2 \sin \frac{x}{2} \cos(a+x) \right] \stackrel{\text{VOAL}}{=} \lim_{x \rightarrow 0} \frac{\sin \frac{x}{2}}{\frac{x}{2}} \cdot \lim_{x \rightarrow 0} \cos(a+x) = \underline{\underline{\sin a}}$$

$$9) \lim_{x \rightarrow 0} \frac{\cotg(a+2x) - 2\cotg(a+x) + \cotg a}{x^2} = \lim_{x \rightarrow 0} \frac{1}{x^2} \left\{ [\cotg(a+2x) - \cotg(a+x)] - [\cotg(a+x) - \cotg a] \right\}$$

$$\left\| \begin{array}{l} \cotg \alpha - \cotg \beta = \frac{\cos \alpha}{\sin \alpha} - \frac{\cos \beta}{\sin \beta} = \\ = \frac{\cos \alpha \sin \beta - \cos \beta \sin \alpha}{\sin \alpha \sin \beta} = \frac{-\sin(\alpha - \beta)}{\sin \alpha \sin \beta} \end{array} \right\| = \lim_{x \rightarrow 0} \frac{1}{x^2} \left[\frac{-\sin x}{\sin(a+2x)\sin(a+x)} - \frac{-\sin x}{\sin(a+x)\sin a} \right]$$

VOAL

$$= \lim_{x \rightarrow 0} \frac{\sin x}{x} \cdot \lim_{x \rightarrow 0} \frac{\sin(a+2x) - \sin a}{x \sin(a+2x)\sin(a+x)\sin a} = \lim_{x \rightarrow 0} \frac{1}{\sin(a+2x)\sin(a+x)\sin a} \cdot \lim_{x \rightarrow 0} \frac{2 \sin x \cos(a+x)}{x}$$

VOAL

$$= \frac{1}{\sin^3 a} \cdot 2 \cos a = \underline{\underline{\frac{2 \cos a}{\sin^3 a}}}$$

$$10) \lim_{x \rightarrow 0^+} \frac{\arccos(1-x)}{\sqrt{x}} = \left\| \begin{array}{l} \cos y = 1-x \quad x \rightarrow 0^+ \\ x = 1 - \cos y \quad 1-x \rightarrow 1- \\ \arccos(1-x) = y \rightarrow 0^+ \end{array} \right\| =$$

$$= \lim_{y \rightarrow 0^+} \frac{y}{\sqrt{1 - \cos y}} \stackrel{\text{VOAL}}{=} \sqrt{\lim_{y \rightarrow 0^+} \frac{y^2}{1 - \cos y}} = \sqrt{2}$$

VOAL